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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %

1 1222 6.5 2.2 9 72.2 99.9
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Examiner
[
5. Two brothers, Gethin and David, share a sum of money in the ratio 2:7. o

David gets £30 more than Gethin. Calculate how much money the brothers share. [4]
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Two brothers, Gethin and David, share a sum of money in the ratio 2:7,

' David gets £30 more than Gethin. Calculate how much money the brothers share.
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5. Two brothers, Gethin and David, share a sum of money in the ratio 2.7,
David gets £30 more than Gethin. Calculate how much money the brothers share. [4]
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Sticky Note
In this question, candidates needed to realise that £30 was the difference between Gethin and David's share, and therefore was equal to 5/9 of the amount shared.
This example show a correct solution.
M1A1m1A1


5. Two brothers, Gethin and David, share a sum of money in the ratio 2:7.

David gets £30 more than Gethin. Calculate how much money the brothers share. [4]
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5. Two brothers, Gethin and David, share a sum of money in the ratio 2:7.
David gets £30 more than Gethin. Calculate how much money the brothers share. [4]
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Sticky Note
This candidate uses equivalent ratios to arrive at Gethin and David's share. They lose a mark however by not stating how much money was shared.
M1A1m1A0


5. Two brothers, Gethin and David, share a sum of money in the ratio 2:7.
David gets £30 more than Gethin. Calculate how much money the brothers share, 4]
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5. Two brothers, Gethin and David, share a sum of money in the ratio 2:7.
David gets £30 more than Gethin. Calculate how much money the brothers share. (4]
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Sticky Note
A common misconception is shown here. The candidate is not sure how to solve the problem and ends up sharing £30 in the ratio 2:7.
M0A0m0A0
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10.

8cm

5cm

10cm

Diagram not drawn to scale

A cuboid made of metal has dimensions 10cm, 8cm and 5cm. The mass of the cuboid is 1-1 kg.
Calculate the density of the metal. State the units of your answer. [4]
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Sticky Note
In this question candidates had to show that they knew the formula for density and could apply it properly. A mark was also awarded for stating the appropriate unit of density.
This example shows a correct solution.
B1M1A1U1
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Sticky Note
This candidate chooses to convert their volume into cubic metres, but they fail to do this correctly. They know how to calculate density but lose a mark as their density is not in the unit specified.
B1M1A1U0
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13. From the top of a vertical cliff, the angle of depression of a sailing boat is 15°.
If the sailing boat is 700m from the base of the cliff, calculate the height of the cliff above sea
level. [4]

< “t= Boat

-~ 700m —

Sea level
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Sticky Note
Candidates then needed to use the tangent ratio to calculate the height of the cliff. This example shows a correct solution.
B1M2A1

Sticky Note
Candidates needed to start this question by showing an understanding of angles of depression, and positioning 15 degrees either at the top of the cliff or by the boat.





13. From the top of a vertical cliff, the angle of depression of a sailing boat is 15°.
If the sailing boat is 700 m from the base of the ciff, calculate the helght of the cliff above sea
level, 4]



Sticky Note
This candidate has not positioned the 15 degrees appropriately, but after this they have correctly applied the tangent ratio and deserve credit for their answer.
B0M2A1
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18. A gardening tool made of steel has been manufactured by attaching two triangular pieces onto
a piece in the shape of a parallelogram
Using the information given in the diagram, calculate the size of BFC [7]

F

18cm
15cm

21
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Sticky Note
Candidates had to start this question by realising they needed to calculate AD by using the sine rule. BC has the same length as AD so they could then use this fact and the cosine rule to calculate the angle BFC.
This example shows a correct solution.
S1M2A1M2A1
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Sticky Note
This candidate starts the question correctly, and substitutes appropriate values into the cosine rule. However, they fail to solve the resulting equation.
S1M2A1M1A0
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UNIT 3 - HIGHER TIER

June 2014 UNIT 3
Higher Tier

Mark Comments

5.5 parts = (£)30 OR 30+5 OR 7x—2x =30 OR equivalent
(1 part) = (E)6

NRNENIREN

M1

Accept 5/9 = 30

Al
(Amount shared =) 6 x 9 ml | FT their 1 part, provided M1 awarded.
=(£) 54 Al | Award M1A1m1AO for answers of £12 and £42.
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June 2014 UNIT 3
Higher Tier
10. (Volume of block =) 10 x 8 x 5 (=400) (cm®)
(Density of metal =) 1100 + 400 OR 1.1 +400 OR 1.1 +0.0004

=2.75 OR 0.00275 OR 2750
Appropriate unit  g/cm® kg/em® kg/m®

N N N NN

Mark
Bl
M1

Al
Ul

Comments

FT 1100 or 1.1 + ‘their volume’ provided it is a
product. Volume may be given in another metric unit.
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June 2014 UNIT 3

Higher Tier Y| Mark Comments
13. To be viewed with diagram.
15° marked on diagram or used correctly. v B1
h = tan 15° x 700 OR h = 700/tan75° vv | M2 | FT their angle of depression.
M1 for tan15° =h/700 OR M1 for tan75° = 700/h
h=187(.564...) or 188 v Al | Ananswer of 2612(.435...) may earn BOM2A1 or

B1MOAQ. Watch out for compensating errors.

© WJEC CBAC Ltd.

22











June 2014 UNIT 3
Higher Tier
18. To be viewed with diagram.
Strategy to find AD using sine rule, equating it to BC, then using
cosine rule to find angle BFC.

AD = 10/sin68 x sin60
AD =9(.340...)
cosBFC = 142 + 182 — AD?>  (0.8586452...)
2x14x18
BFC =30.8(351...°

\

SRR

Mark

S1

M2
Al
M2

Al

Comments

M1 for AD/sin60 = 10/sin68

FT their derived AD.
M1 for AD? = 14? + 182 - 2x14x18xcosBFC

GCSE Mathematics - Unitised MS Summer 2014
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